Homework #2
Name __________________________________

MKTG471

DUE 10/23/08


Population: 589,000

There is a TV program that airs once a week, from 8pm to 9pm on Thursday.  The same 77,000 people watch this show on any given Thursday night.  A 30-second spot during this program costs $1,650.  A 60-second spot costs $3,200.

There are 3 magazines in the world.   All of them come out once a month.  Mag A has a readership of 118,000 (69,000 of whom are unique readers).  Mag B has a readership of 112,000 (87,000 of whom are unique readers).  Mag C has a readership of 72,000 (24,000 of whom are unique readers).  Unique readers read only one magazine, but non-unique readers read more than one magazine.  We assume that if a person reads a magazine, they do not also watch the television program.  Full-page, four-color ad costs for each magazine are given below:

Mag A: $1,600

Mag B: $1,200

Mag C: $1,900

For the month of July (which has four Thursdays), you decide to run one full-page, four-color ad in each magazine, and run one 30-second spot during each episode of the TV show.  Calculate the following figures for July for the entire July campaign.  (Show your work on the back if necessary, but only put your final answer in the table below.)
	GIMPs: 
	

	GRPs:

	

	Reach:
	

	Frequency:
	

	CPM(tv):
	

	CPM(a):
	

	CPM(b):
	

	CPM(c):
	


What medium appears to be the most cost efficient way to spend ad dollars to obtain maximum impressions?  

What other information would be helpful in determining the best media strategy?

